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Advanced Algebra: Chapter 5 (Part 2) - Practice Quiz

1.) Divide using polynomial long division.
(x* + x3 —8x? + 5x + 5) + (x2 4+ 5x — 2)
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2)F md the other zeros of the function f(x) = 15x3 — 119x% — 10x + 16 given that one zero is 8.
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For numbers 3 and 4, find all zeros of the polynomial function.

3) f(x)=x*—2x3-8x*+8x+16
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4) h(x) =x3 = 11x* + 41x - 51
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5.) You are making an ice sculpture for the upcoming winter festival. It is to be shaped like a pyra_mid with a
height that is 1 foot greater than the length of each side of its square base. The volume of the ice sculpture
is 4 cubic feet. What are the dimensions of the mold?

Volumepyramia = %Bh, where B is the area of the base and h is the height of the pyramid.
-y (w1 ) (.1-._\. ()(3*)(1) ‘ 0
N7 5 e 5 RAV IR LY

Vs bed e ()
0__7‘3_‘x1—\1 X_"S‘-"{_BY"“\\W}" 3:33:3.:

1,1,3.9,9,\ AN
¥
l\\ \ (%o—\"l )(:—jgl—i
y Ut \L
' 36 L- - 1H
Xt3% 1\ LW, we Lh,

n=3 ¥
Write a polynomial function f of least degree that has rational coefficients, a leading coefficient of 1, and
the given zeros.

6.) zeros: 2,5+ V5
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Determine then

the given degre
r

“® 7.) Degree: 10

umber of positive real zeros, negative real zeros, and imaginary zeros for the function with
€ and graph,

8.) Degree: 7
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Graph the function. Identify all intercepts. You must plot points between and “beyond” all x-intercepts.
Use the x/y table to identify points on your graph.

. 9) f(x) = ——(x+6)2(x — ) (x+3)(x— 1)
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10.) In the above graph, draw an arrow to any local maximum(s) and label them “local max.”
In the above graph, draw an arrow to any local minimum(s) and label them “local min.”

Scanned by CamScanner



